Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300008 Date: 07 -01 -2016
Subject Name: Applied Mechanics
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. U#l el (AscAl.
Forces are called concurrent when there lines of action meet in

A.  One point B.  Two point

C. One plane D. Different plane

WOl R Aol sdaia AR Auell stlu

A, Qs (gl 1O B. A lgui v

C.  As yudaul 1A D.  oel el dHdcHl 1A
The unit of power in S.1. system is

A.  Watt B. Gram

cC. T D. Kag.

S.I. utulaui 2B ol AsH 9 B?

A Qe B. o

C. 4 D. (o

A vector quantity has

A.  Only magnitude B.  Only direction

C. Both magnitude and direction D.  None of the above
AR e 2l a B.

A s5d Y B. g5t (Rau

C. ycaua Rau v D.  Gurell wigll Slyuw i@
In a co-planner force system all the force lie in

A. Same plane B.  Different plane

C. Different points D.  None of the above

A Al dolHl sl sl Hi sl 8.

A Rul uHddHl B.  oel-ael AHdAH

C. el wel gni D.  Guzett il S8ual o3
Principle of transmissibility of forces deals with transmission of force along
A.  Straight line B. Curve

C.  None collinear pts. D. All of the above
ool AAAHo Al Rdid dn 2@l 56 (B 2uMl cld B.
Al cudet B. sd

C.  allot slcllollaR [@g D.  Guretl Higll sty
What is the magnitude of equilibrant force

A.  Always zero B.  Twice the resultant force
C.  Same as resultant force D. Half of resultant force

UHAAS wlig] Y 32¢] sl 872
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wn

10.

0.

11.

Q.

12.

.

13.

3.

14.

A sRa g B.  uRewl soe] g

C.  uRul clovetl UMLet D.  uRoull uaef sy

In law of parallelogram what is equation of resultant force?

A. R=P2+Q%*+2PQ B. R%=P2+Q*2PQCOSO
C. R=P2+Q%PQCOSO D. R=PT2Q%-2PQSINO
UAHAR oLty UM\l Qi uReuHl wo Y2t g B?

A. R=P%4Q24+2PQ B. R2=P+Q*2PQCOSO
C. R=P*+Q*+PQCOSO D. R=PT?Q?*+2PQSIN©O

For lami’s theorm which equ" is correct

A. P/COSa=Q/COSB=R/COSy B. P/TANa=Q/TANB =R/TANy
C. P/SINa = Q/SINB = R/SINy D. P/COTa=Q/COTP=R/COTy
Al ol YR HER 53 Yo WY B?

A. P/COSa=Q/COSp=R/COSy B. P/TANa=Q/TANp=R/TANy

C. P/SINa= Q/SINB = R/SINy D. P/COTo=Q/COTB=R/COTy
Law of polygon of forces can be used to determine the resultant of
A. One force B.  Two force

C.  Three force D.  More than three force
WOl ol WAoot ol [Aaun Slof URBUHL sl Nual HER auRd B?

A, As aan B. Qan

C. g an D. 2@ s2dl au oo
Forceis a

A.  Scalar quantity B.  Vector quantity

C. Major quantity D.  Minor quantity

ATO N

A adla el B. a2l

C. yua w2l D.  w&atr 2l

Give the value of resolved component along X-X axis for the 10 N force acting
towards north- east

A. 5N B. 7.07N
C. 293N D. 70.7N
10 N % GrdR-Yd R cld 8. Ao X-X Ul drs [Quest ues wl.
A. SN B. 7.07N
C. 293N D. 70.7N

When a body is said to be in stable equilibrium
A. when it isoccupies new position B.  When it return back to its original
position
C. Whenitdoes notreturnbackto ~ D.  None of the above
its return position

YL A RAR AHAAA Hl AR sdAHL 2 B?

A R A etll oruAl RAR Al B. o d yon AU we 2l

C. o A ya RAQ M wey <@ D. el slgug i
wcll

Moment of a force is define as

A. Product of force and moment B.  Division of force and moment arm

rm

C. deition of force and moment D. Difference of force and moment arm
arm

syt ofl cautvl

A wo el WRee Adell JJRUsIR B.  wn ua WAee 20l @ousR

C.  oq v AR wiell AR D. s wal {2 vdell ctstelet

Two equal opposite & non collinear force constitute a
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.

15.

Q.

16.

6.

17.

9.

18.

.

19.

c.

20.

R0.

21.

1.

A. Moment B. Momentum

C. Velocity D. Couple

A AU AR U ollot slellollar woll 9 wlolld B?

A e B. aAeeu

C. adaxld D. sua

If resultant of system of forces is between 90° & 180° it is in which quadrant?
A. 1% quadrant B. 2" quadrant

C. 3quadrant D. 4" quadrant

A olelefl yeuell 12 uReuHl co ¢o° & 1¢0° ol dA sladld sil AWML B?
A Wl uRQ B.  ollent uRul

C. Al 21 D. Qau u:w

For a co-planner con-current force system if YH = +ve and Y’V = -ve the resultant
A. 1tquadrant B. 2" quadrant

C. 3quadrant D. 4" quadrant

%l AHdcla BouHl vl ofl youdl W2 TH = +ve wal TV =-ve dladl URRuHl tn s
AWML B?

A Wl ural B. ol Rl

C. At 2 D. Qau au:w

A 20N force is acting at a perpendicular distance of 1.5 meter from point O what is the
moment of force about point O?

A. 20N.M B. 30N.M

C. 100N.M D. 40N.M

R0 N of As oo “0” (olg ol a.u H{l2R ol dol vidR UR cdldl B. Al “0” (blg GUR of slyul
52 B?

A. 20N.M B. 30N.M

C. 100N.M D. 40N.M

A point load is known as

A. Large load B.  Concentrated load
C. Small load D. Distributed load
@geuR s¢ A AWavua B.

A Qaua B. 3odaeur

C. slaun D. [QdRdeuz

What is the meaning of UDL?

A.  User distributed load B.  Under distributed load
C.  Uniformly distributed load D.  Upper distributed load
UDL oll udl g B?

A YR [QdRd R B. oA Q@QdRc au?

C.  ud@QdRd eu? D. 6w [QdRd @

A cantilever beam is what?

A.  Simply supported at both ends B.  Fixed at both end

C. Free at both end D. Fixed at one end & free at other
As ogauRwl ol Aed g?

A wa Bst UR uEl A deslad 8l B wial Bst uR wlsls

C. ool Bsl UR Ysct D.  As B3 uwolg ollost B st
Principle of moment is based on which theorem?

A.  Verignon’s theorem B.  Lami theorem

C. Bow’s notation D. Law of parallelogram

Aoz oll Rtuid Aoll UR WURA B.

A, Adtetet Redict B.  aull-ll yda
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22.

2.

23.

3.

24,

Y.

25.

QY.

26.

RS.

27.

V.

28.

RC.

29.

RC.

30.

C. Ao a2t D.  auidr oy aqwslgell Qan
Unit of moment is

A.  Newton meter B.  Newton/meter

C. Newton D. Meter

HAoe ol AsH

A el B.  oyalet/ler

C. =t D.  le?

The horizontal reaction for a roller supported beam which can slide freely horizontally
A.  More than zero B.  Lessthan zero

C. Equal to zero D. None of above
AR AWRs ofld MR 2y RAsAot B Ysct U 28l (Baumi A8l a3
A 9o sl duR B. g 5dl A

C. 9o GRIGR D.  Gur ot uiell 81 «tél.
Centroid is the

A.  Centre of plane area B.  Centre of mass
C. Centre of weight D.  Name of mass
Actdos A

A Qe ARAUG o B.  3osdf e

C.  a%ole] dost D.  Gu: uiell 88
Resultant force of couple is equal to

A 10 B. 0

C. 100 D. 1000

wngors] uReuHl v deq sla?

A. q0 B. o

C. 00 D. 1000

Which one of following is not a beam support?

A.  Simple support B.  Hinged support
C. Roller support D.  Open support
o{lAotl Hiell 52 olld 251 otall

Al AE AWUR B. ARl ctnl »uuR
C.  Ack wuRrR D. el R

Area of semicircle is

A.  [IR? B. [IR?2

C. R? D. [JRY4
wdadoustz of Yy

A JIR? B. [JR%2

C. R? D. [IR%4

Volume of cylinder having radius R & height H is given by

A, [IR? B. T[IR®’H

C. RH D. [JRH

As dOUsIR ol Axel R ol QLAY H 8l dl Ao Yot 2

A. TJJR? B. [IR%*H

C. RH D. [JRH

What is the area of triangle having width 10 cm & height 16 cm?
A. 100 CM? B. 120 CM?

C. 80CMm? D. 160CMm?

10 CM U&OUE ual 15 CM QLULE alou (Aslete] &ssn .

A. 100 CM? B. 120 CM?

C. 80CM? D. 160 CM?

Dynamic friction is always
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30.

31.

34.

32.

32.

33.

33.

34.

3%.

35.

34.

36.

36.

37.

39.

38.

A. Less then static friction B. More then static friction

C. Equal to static friction D. Zero

allds el A eRal

A R udg ol Ay s B B. (A wdg ol aur 8 ®
C.  RAd udy Bed D. 9o

What is ratio of F & N called?

A.  Angle of friction B.  Angle of repose
C. Co-efficient of friction D.  Frictional force

F & N ol JQ0tiRa 9 53 B?

A udaslal B. [Qsunsa

C.  wdaus D.  wigaua

Angle of repose is always equal to what

A.  Angle of friction B.  Normal reaction
C. Limiting friction D.  Static friction
(@Qsumslal Rell sloll wlRioR ala B.

A udeislel B. daulQBa

C.  uedu wriosal D.  ®&dudg
Friction depends on the

A.  Area of contact B.  Length of contact
C. Roughness of contact surface D. None

urel Aoll GUR WUR AW B?

A dus @R B. u$ ol douss

C. dud awdloll s D.  GuR ol Higll 81 «13

‘L’ section has

A.  One axis of symmetry B.  Two axis of symmetry
C.  No axis of symmetry D.  Three axis of symmetry
‘L A5t o

A AR As et B.  aR[o & wuat

C. uRRQ-0 Asunl wet o D.  uf@e 2w et
The motion in screw jack can be compared to motion on

A. Aninclined B. A horizontal plane
C. Vertical plane D. None

2585 Hioll ol Slofl WA URuL asla ?

A ol Wt B. sl w@q

C.  Gell @at D. 8¢

Ball bearing is an example of

A. Sliding friction B.  Static friction

C. Rolling friction D.  None of the above
et Aglol slof GelsRWL B?

A yUludel B. :udw

C.  Acloiuna D.  GuR uigll slsual o3
In idea machine

A. MA>V.R B. MA=VR

C. MA<V.R D. MA s unity
weglaist Ui MA A VR &l

A. MA>V.R B. MA=V.R

C. MA<VR D. MAIsunity

At fixed support the possible number of reactions are

A 3 B. 2
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3¢.

39.

3¢C.

40.

¥0.

41.

¥q.

42.

¥R.

43.

¥3.

44,

¥Y¥.

45.

¥,

46.

C. 1 D. 4
lolg 250 dLnEl ylaBaoio ol vl

A 3 B. R

C. ¢ D. ¥

When a body is subjected to force P and it is rest the relation between P&F is
A. P<F B. P=F

C. P>F D. Noco relation

ol RAR RAAML 23 S| UR “P” &l AL SlAAL “p” & “F” Aol Uit
A. P<F B. P=F

C. P>F D. Noco relation

A reversible machine will have an efficiency

A. =50% B. >50%

C. <50% D. =100%

URdlct 22t ofl staletel

A =50% B. >50%

C. <50% D. =100%

1HP= Watt

A. 746 B. 0.746

C. 0.0736 D. 7.46

W = dle

A o¥s B. 0.9%5

C. 0.003% D. wxs

Work done is equal to
A.  The scalar product of force and B.  Applied force
displacement

C. Distance moved D.  None of the above
a§ Sot Sloll URAUR sdallU?

A wa & RAUGtAR ol BER Ulsse B. g ua

C.  s0d R D.  GuR ol Higll 8 o1}
The ratio of load lifted (w) to effort applied (p) is known as

A. Velocity ratio B.  Efficiency

C.  Mechanical advantage D.  None of the above
AUSA AR (W) ol 5 Yl (P) oll JJRtR 9 sdclld B?

A oA 9edR B. el

C. iBs g2l D.  GuRe uigl slsuel «18l
Conditions of equilibrium for co planner non concurrent force are what?
A.  YH=0,YV=0 B. YH=0, YV=0, ¥M=0
C. Only)V=0 D. Only YM=0

Audella Ul drloll AUAdst ol ARA 58 B?

A.  YH=0,>V=0 B. YH=0,>V=0,Y>M=0
C. OnlyYV=0 D. Only YM=0

Non reversible machine is also called as

A. Reversible machine B.  Self locking machine
C. Simple machine D. Dynamic machine
UURAlA 2o A 9 sdaunl A B?

A WBadld 2ia B. Qces Aslol 2a

C. g A D.  olds 2t

What is the law of m/c

A.  P=MW+C B. P=MC

C. P=MC+W D. P=WC
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¥S.

47.

¥9.

48.

¥C.

49,

¥C.

50.

uo.

51.

ua.

52.

UR.

53.

us3.

54.

Hallot ol (A 9 B?

A. P=MW+C B. P=MC
C. P=MC+W D. P=WC
State the S.I unit of work

A. Kg B. N

C. Joule D. M

sl oll S.1 WsH Wl

A.  Kg B. N

C. Joule D. M
What is the equation of potential energy?

A. Ngh B. Kg

C. Mgh D. Mg
Weer{lad of Yot g B2

A. Ngh B. Kg

C. Mgh D. M?g
For a simple screw jack, which of the equation for V.R is correct?
A.  2L/P B. LxP

C. 2LP D. 2[]LxP
A5 UEL YRS ol V.R H2 53 Yo ALY B?

A.  2L/P B. LxP

C. 2LP D. 2[[LxP

For a simple wheel & axle M/C, diameter of effort wheel id 100 MM & diameter of
load axle is 25 MM what is the value of V.R

A 10 B. 4

C. 5 D. 20

As AE US Wl UL A2 HIRZ YA GO US of U™ 100 MM & dal U3l oll Al U MM
8 V.R.oll BHd 32cll B?

A. q0 B. ¥

C. y D. =20

If a law of machine is P=0.2W+4 what is the value of maximum MA?
A 6 B. 5

C. 02 D. 6.2

ol 22 [aM P=0.2W+4 8l Al HedH MA oll (Buct decll B.
A g B. y

C. ox D. g

What is the equation of maximum mechanical advantage?
A W/P B. 1/m

C. W+P D. WxP/m
HedH AlBs SlAEL of Y 53 B?

A W/P B. 1/m

C. W+P D. WxP/m
What is the efficiency of an ideal machine?

A 0% B. 50%

C. 80% D. 100%

As A2 ofl stleatal sécll sla B2

A oy B. uox

C. c¢oy D.  100%

For a simple machine if MA=40 & VR=80 then what is the efficiency?
A.  50% B. 0%

C. 80% D. 100%

ol As ALEL 22 HIZ MA=40 & VR=80 8lat l 2 o{l stlealdl decll &2
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uy.

55.

uu,

56.

us.

S7.

.

58.

uc.

59.

ue.

60.

SO.

61.

5.

62.

A, voy B.

0%

C. c¢oy D. 100y

Center of gravity is the

A.  Center of plane area B.  Center of plane

C. Center of mass D.  None of the above

J3ccl 3o%

A Qe ARALG Fost B.  1Qotd] ¥ost

C.  dold eq D. Guret uidll 816 ugt «i(2.

A Circle has

A.  Two Axes of symmentry B.  Three Axes of Symmentry

C. Four Axes of Symmentry D.  All of the above

usctal

A yRQeu A ua B. ot oo et

C.  uRAQe wR uat D.  GuR el olul

The Co-efficient of Function () is equal to what?

A. Sing B. Cos®@

C. Tan®@ D. Cot@

adeus (u)

A. Sing B. Cos®@

C. Tan®@ D. Cot®@

The Friction Force Acts in which direction of motion?

A. Same B.  Opposite

C.  Perpendicular D. Inclined

gl o oA ol 585 Rl cudl 82

Al wul B. (a3

C. du D. =y

If Co-Efficient of Friction is 1.0 what is the value of angle of friction?

A. 30° B. 45°

C. 60° D. 90°

ol urels ofl slid 1.0 sl Al «del s1eL ofl Sl 3ecl ® 2

A. 30° B. 45°

C. 60° D. 90°

If Ladder is resting against a smooth vertical wall than

A. Rw=0 B. Rf=0

C. Ff=0 D. Fw=0

AR As A0l ALl dlaict WA 2sAct dla R

A. Rw=0 B. Rf=0

C. Ff=0 D. Fw=0

For a Simple Lifting machine, Input =

A. Load x distance moved by effort B.  Effort x distance moved by load

C. Effort x distance moved by D. Load x distance moved by load
effort

UELRA HIEE Saly2 =

Yol x Aol dd slug AR
%ol x d%el dd sluq AR

Momentum

A el x Yot ool ad s1A¢ v B.
C.  yaelen x Yaelola ad siAd D.
R
Tightening of nut using by spanner is the application of
A. Couple B.
C. Canter of Gravity D.

Uletl dd 2lgfe s ol Qo GELERWL & ?

Moment



SR.

63.

S3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

68.

SC.

69.

Sc.

70.

A sud B. QReen

C.  Acer Ay A3l D. Qe
What is the Weston’s differential Pulley block equation?
A VR=2 B. vR=-22
d dl—dz2
C. vr=2Z D. yr=2L
D-d d-D
Aot ol Bsra{lact Yell ocls of Yot 9 B ?
A VR= b B. VR = 2D
d dl—-d2
C. vr=Z D. vr=2L
) D-d ) ) d—-D
Lathe is an example of which type of machine?
A.  Simple machine B.  Lifting machine
C.  Compound machine D. Reverse machine
QAU A 58 2FU all A2 of GELERN B?
A e B.  dlsdlat 2iat
C.  51uGess 2al D.  {laal aia
State equation for quarter circle area
A, TIR%*2 B. g2
4
C. JIR? D. Iy
4
Ul U5A of Y 9 B2
4
C. JIR? D. Oy
4
In plane figure the point at which whole area of the figure is concentrated is called
A. Centre of repose B.  Centre of gravity
C. Centroid D. Centre of area
UAHAA AW URell As (ol ¥ >l wy o Axsn AsBd °Ad sla Aal sdclld B?
A Qoer Ay AW B. e s Al
C. AQEs D. Qe s AR
Cone is an example of what?
A.  Centre of repose B.  Centre of gravity
C. Centroid D. Centre of area
cone W o] GELEWQ B?
A Qoer s AW B. e s Al
C. AQAs D. Qe s AR
What is the equation of single purchase crab.
A VR= RT B. VR= RT
T nr
C. VR:le D. VR:lexE
. r T2 r T2 T4
Rt uAx doto] YA?
A VR= RT B. VR= RT
T nr
C. VR:le D. VR:lexE
r T2 r T2 T4
What is the equation of stiff ness
A. force B. deflection
deflection force
C. Force x displacement D.  None of above
RgAU of YA B?
A. force B. deflection
deflection force
C. Force x displacement D.  None of above

Increase in kinetic energy is equal to work done this statement is
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A. True B. False

C. May be true D. None of this all
“slFAls WolosT i Al gl A AAL 12 oll AYHIRL Hi QU wl clst
90. A Wy, B. wigd
C.  seruuyd. D.  auuiell As uw «i3.
*khkkkkhkhkkhkkhkikikikk
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